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. It a,b will maximalize the value of the integral j {4 —2*)dz, thenb—a=
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If ap = {1+ ~ + =) then lm g, =
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. Let f be a twice differentiable function and let ufz) = f{z2 — 1. I f{0) = 1, f*{0} = 2,

then u"(1}) = 0
dz -
EL. =1 — z, then }Lﬂ&'“} = _g__ .

. The tangent plane to 2? 4 2" + ¥ =7 at (1,1,2}1s 3 .

. The disk 2% + 3% 4 | is revolved about the line z + ¥ = 2 to generate a sobd. Then he

volume of the solid is  EF

.jz zﬂ-"r? dr = 3¢
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A rectangular wooden box with an open top is to contain 500 em”. lgnoring the thickness
of the wood, how 1s the box to be constructed so as to use the smallest amount of wood.

(9%)

Drraw the graph of f(z) = z"e™*, ¢ 2 0, where n is a fixed positive juteger.




